Algebra IA






Name _________________________________ 2.4 – 2.7 Review





Date ___________________
Hour ______
Solving Equations, Proportions, and Literal Equations
Describe each step used in solving the equation.

1.  10x – 7 = 4x + 5




2.  4(x – 2) = 7x + 1

   Step 1:  6x – 7 = 5
1.  ____________

Step 1:  4x – 8 = 7x + 1
1.  ____________

Step 2:  6x = 12
2.  ____________

Step 2:  – 8 = 3x + 1

2.  ____________

   Step 3:  x = 2

3.  ____________

Step 3:  – 9 = 


3.  ____________









Step 4:  – 3 = x

4.  ____________
Solve the equation, if possible.
3.  6p – 3 = 4p – 1



4.  10a – 2 = 7a + 4



5.  5(m + 2) = 20

6.  9x – 2 = 8x + 7



7.  5n – 3 = 3n + 1



8.  4z – 5 = 8z + 3

9.  – a + 4 = a + 6



10.  w + 8 = w – 3



11.  2(y – 3) = y + 4

12.  3(m + 2) = 8 + m



13.  6 + x = 6(x – 5)



14.  7(b + 3) = 7b – 4

Write a ratio for each.  
15.  Last year, it rained 18 days during a 90-day period.
a.  Find the ratio of the number of rainy days to the total number of days in the period.

b.  Find the ratio of the number of days it didn’t rain to the total number of days in the period.

c.  Find the ratio of the number of rainy days to the number of days it didn’t rain.

Solve each proportion.
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Write the equation in function form.

24.  y + 10x = 3


25.  y – 13 = 4x


26.  8x + y – 4 = 0

27.  4x+ 2y = 14


28.  3y – 9x = 27


29.  16 + 2y = 18x

Solve the literal equation.

30.  Solve P = R – C for C.

31.  Solve F = ma for m.

32.  Solve ax – by = c for x.

33.  An advertisement for a bank states that you can earn $50 interest in one year by investing in a savings account that earns 4% interest. Use the simple interest formula I = Prt.  

a.  Which variable should you solve for to find the amount of money you need to invest to earn the $50 in interest?


b.  Solve the simple interest equation for the variable you identified in part (a).


c.  How much money do you need to invest?
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